ko8

ROBEFSE

BT BRMOBIR

28 REMOELN Brlare o]

_ mEfE | A fEERe | HmatE b B
i | i . tha) | he) | s | °° | zo | mm
65 | HEAE B N B2 0.13 | 0.13 | 857.4.1 N O O
66 | HXAE | FRE $ 4 H| FREE 0.38 | 0.38 | 857.4.1 # O
67 | #HXEAE|H M N @ HHETH 0.39 | 0.39 | 855.6.20 B O O
68 | #HXEAE M / A N B(M/K2TH 046 | 046 | S55.6.20 0 @) O
69 | #HEAEH | FHRE— L R|ER5TH 0.30 | 0.30 | 855.6.20 # O 8]
70 | BXRE | HEE-ZNE EHEITE 0.26 | 0.26 | S55.68.20 # O )
71 | 5iXNE | GRS ERESEAR | W5 0.09 | 0.09 | s58.3.31 #h O
72 | HiXE | BEFEEE=LAR | EIESS 0.21 0.21 | $58.3.31 #h O
73 | HEAE |ErSEEE-0H| BES 0.10 | 0.10 | $58.3.31 B O
74 | EHERE |BTSEEENLE | EEF 0.13 | 0.13 | S58.3.31 # O
75 | BXNE | FRFEEE- A0 | Tt 0.11 | 0.11 | 858.3.31 # O
76 | HEAE | A X A il 0.37 | 0.37 | $59.3.31 B O
77 | HERAE B A By 0.10 | 0.10 | 857.3.31 # &)
78 | HREAE | FEE— N E|KUASTH 0.25 | 0.25 | S58.3.31 # 8] o]
79 | HERE | EHESE - A E| XUHTH 027 | 0.27 | 8568.3.31 #R O O
80 | IXAE |7 IF f1 & 2\ B | FEEMA 0.60 | 0.60 | $58.3.31 # O O
81 | #HXAHE |RIE A& - B|RENS 049 | 049 | $58.3.31 B O 2]
82 | HXRE | /NEES—rE | INEA 0.03 | 0.03 | $59.3.31 &3 (@) O
83 | fiXE | FEFEPNAE | Wit 0.05 | 0.05 | 859.3.31 #B )]
84 | HIXAE | B £ — 1 B | FERlPT 0.04 | 0.04 | $59.3.31 0 &
85 | HIXAE | FERIATRih AR | FRlRr. 5 054 | 054 | $63.3.9 =N O
86 | HXEAHE |k # 4« H|MREH 0.07 | 0.07 | SB60.3.26 # O
87 | HiXrE | m 8 B A TERGEB 0.11 0.11 | S60.3.26 # O
88 |#HIXAE|E B 2 TEREE 0.07 | 0.07 | S61.3.19 B O
89 | #HREAE |ZFE Il & B|TRas 0.09 | 0.09 | S61.3.19 B O
90 | HERE|F & N B/ KTTH 025 | 0.25 | H6.6.1 # @) o]
91 | HXENE [ B E N Ww/ARITH 025 | 0.25 | HB.B.1 #h O O
92 | HERE|HE B 2 ENE2TH 025 | 025 | HB.6.1 B O O
93 | HRXAE |/ R 1§ 1\ B|ESEITH 025 | 0.25 | HB.B.1 B O O
94 | HERE|H # N EH|ESES5TH 025 | 0.25 | H6.6.1 R O O
o5 | HEAE[E B/ » 2R,82TH 023 | 0.23 | HA.11.1 # O O
096 | HEAE|Z & & BH(ERsEITH 0.30 | 0.30 | H9.11.1 B O O
97 |HERE |/ B 2 ERsE3TH 029 | 0.9 | H9.11.1 B O O
98 | HREAE | ENIRGLE|ER,E/TH 020 | 0.20 [ H9.11.1 # @)
99 | HERE (R H 2R s86TH 027 | 027 | H9.11. # O
100| HIXAE | i v h'RENE | REATH s i 0.16 | 0.16 | 853.3.1 0 O
10| HEAE & HF Q2 TRAS 0.06 | 0.06 | S62.35 - O
102| HXAHE | bR E— R E | LAIPR 0.03 | 0.03 | S63.1.20 - O )
103| HENHE | B 5 — 0 B | B8 0.10 | 0.10 | 863.1.20 - O O
104| #iXE | RIS —nE | AR 0.03 | 0.03 | H1.8.18 7 O O
105| HREAE B 5 | » B|®A 0.14 | 0.14 | H2.3.15 - O
106| IEXRE | = 2 L & BH|SZN0 048 | 048 | H35.17 - O O
107| EHERE | &k 58 = 2 EH| 2K 0.01 0.01 | H4.3.30 - O O
108| #XAE |5 1L % — @ | K. 0.01 | 0.01 | H4.3.30 N O O
109| HRXAE | A8 88 55 — 2 B | AEED 0.01 | 0.01 | H5.3.31 - O
110| HRAE % H % 2 B|#88 0.05 | 0.05 | H5.3.31 - O O
111 HEAE | 2FAibE—0E| RS 0.08 | 0.08 | H5.3.31 - O

|Gl A | BheE ] W

]| Ll . ha) | (ha) #0 N

18 | #HXAE | E B MR 0.08 0.08 | 844.3.29 &b O O

10| GXAE |5 B B A B FER 021 | 021 | 544329 8 | O] O

20 | HEAE|— B == ] 0.14 0.14 | 544.3.29 Ead 5] O

21 | HECE|E B &~ B|-ED 057 057 | 844.3.29 s O O

o0 | HErE|xX H o B | #HEE1ITH 0.07 0.07 | 844.3.29 &b O O

23 | HEAE | X BH » BE|$HEE2TH 0.18 0.16 | 844.3.29 & O O

24 | HEAE | R 0] o~ B|PRE4ATH 0.31 0.31 544.3.29 EAd O O

25 | HENE ([T £ FTEEHET 0.14 0.14 | S44.3.29 &b &) O

o6 | AR | T8 &~ B|IEITH 0.76 0.76 | 844.3.29 &b O O

27 | HERE (T E & BEMTH 027 0.27 | 844.3.29 & O @]

28 | HEAH|E B HEEED 0.19 0.19 | 544.3.29 E4d O O

29 | FHENE | & N ER12TH 0.28 028 | 857.4.1 il ) O

| HERE|R H & BH|FEA 0.09 0.09 | 844.3.29 & D] O

3 | BHXAE|E B & & H|&HE 0.12 0.12 | 844.3.29 & O

32 | HEAE|IBZ T ==y 0.06 0.068 | 544.3.29 E4d & O

33 | HENE|E #® o~ B| LE 0.086 0.06 | S44.3.29 & O O

4| HE R | B E & IR 0.12 0.12 | 846.3.23 &L O O

35 | HEAE (P U 4~ E| gy 0.15 0.16 | 846.11.10 & O

36 | mEAE |2 B O Tis 0.14 0.14 | S49.10.17 E4d O O

37 | HERBE|H B o~ B|IiE 0.24 0.24 | S5422 &b O O

3B | HERE | SEE—L SEI3TH 0.30 0.30 | s&0.8.2 & O O

39 | #HXLE|EEE - EH| SEM4TH 0.09 0.09 | sBE0.8.2 & G (6,

40 | HELAH | EEE=ZLRB|SEII6TH 0.10 0.10 | S50.8.2 EAd @) O

21 | XA | B1R)REAR | 05 060 | 060 | 560326 ®

42 | HERE |EZBHE— 1 TIREER 0.10 0.10 | s67.4.1 & O

AZ | HELR [ )R & B dENEE 021 0.21 sSB4.2.2 & O

44 | HENE R B 8 » B| FES 0.03 0.03 | SB0.8.2 4 O O

45 | HERXBR | R B = =1} 0.04 0.04 | S46.11.10 &b & O

46 | HEXLE | EBPE—LE| 2g 0.11 0.11 S54.7.1 &b 5] O

A7 | HELE |EREHE AR | 24 0.03 0.03 | §b4.7.1 B O O

A8 | R E |8 K — A e B | SER—h 0.03 0.03 | Sb4.2.2 E4d O O O

49 | #HELE | B E — ==pa] 0.03 0.03 | sB422 & O O

50 | X AE | EHE R BAh 0.03 0.03 | 867.4.1 & O O

5] |#HEARE|ZEXE— N EH|TX 0.05 0.05 | 849.10.17 E-il) O O

52 | HEAE|TXKE ZnEH| Tk 0.03 0.03 | S54.7.1 EAd 5] O

E3 | HEAE|E & & #EH 0.12 012 | 846.3.23 il O

54 | 5iXAE | FLy BE=18 | mERIFT 017 0.17 | 867.4.1 & O O

55 | HXAE | #Lr 5t 0E | @BRIFT 0.13 0.13 | §67.4.1 & O O

56 | HXE | /Ly EE—BLE | mRIFT 0.12 0.12 | 8s57.4.1 EAs O O

57 | HENE | 7E s BEWAE | FmRIFT 0.13 0.13 | 857.4.1 &b O O

58 | #IXA~E | 2B 08 | mRIFT 0.12 0.12 | 8567.4.1 & O O

50 | HXE | #LrEE_mrE | @RI 0.05 0.05 | 867.4.1 & O O

60 | HXE | /Ly EE_ARE | mRIFT 0.06 0.08 | S57.4.1 &0 O O

61 |#HEAE| 2 B8 N =R 0.03 0.03 | 846.3.23 & O

62 | HXAE | 2am/\(VAE | 25 0.11 0.11 S54.22 &L O

63 | HEAE | F B o =At 0.08 0.08 | S49.10.17 E-il) O

B4 | HmELE|E H o EH|EBH 0.08 0.08 | S49.10.17 E-l O
®©




